o A,
iy AN
= DS 20 D00 DO 20 D0 2 %

[
L]
bike storage rack
: Staircase ’ ; %
to underground | —
parking
B server
% sitting outdoor area
= server

Entrance

3
3

Playground area ~

10.7

©
w

\\m AMEA
letter boxes

s NN

0,
NUAWAR
1%

Entrance /Exit
to underground SKYBAAATIOOHKH

parking

*///4
i







e

-

11|12|13|14|15(16|17 (18|19

—_ 1
=
IF

|
= 00 ==
s BN
o0 f il 3.2 id sz




.2

uuuuuuuuuu

11]12|13|14(15|16|17|18/19R0 oo

10 9| 8§ 7| 6 5| 4 3 2 1

6.7

=

302

e O

[1 62

@e)
oQ

6.756

O |

— !




402

L
moe - = B
N i il
[ 1] L t
N i ki




—

[

IRRARRNENNRYATE

[

Jo




—

RIRRRERNRRNATATA

N




